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UNIVERSITY OF CALGARY
DEPARTMENT OF MATHEMATICS AND STATISTICS

MATHEMATICS 253 — L03 WINTER 04
QUIZ #4a [04-03-22(Monday)]

Max 30 marks (best 3 out of 4 problems).

L. Find the centre of mass (%,7) of the lamina shaped as given, assuming its density is 1.

N ]
M ‘f{/q;\/ a/f\/‘ L wr o= q
5.

%va’“ﬁﬁggﬂf

0 2 .' ol ) 3/ =
5 . 3 (4_){ ) ‘Z;

2

b

7
7 g
e e—L— i) A
3T b 37

2. Solve j—? =yv1—xz% y(0) =
£

o], 2

j&jﬁrﬂ 1=k &

I
,é’dy] fé’m@ Cor & d & , | ____3____7? 377)
,Ze/é M S (5

IZ\/)//-/KL/: Lf({-ﬁ&?zé‘& cﬂc‘ié}o@cf@

. ,.L
T2
:EL ral"} X 7L XV/"’"/Y
ﬁ\/}’/ = é‘L ] X'{é X(/?
LGl A X S~ x>
Cﬂ/ / - C X N



Math 253 (Winter 2004-L03) - Quiz 4a Page 2 of 2

3. Solve :xig— y = 622

4. The characteristic roots of a 3rd order differential equation are:
m=1,1:3:
(i) Find the differential equation.
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(ii) Find the general solution.
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